OstwaldFarben (o), Yyy=100

max (m) Buntwert, Q00
M Normfarbtafel (X, y)

() Name und Spektralbereich
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CG721-1A 1




X4=99,99,Y,,100,002,99.99 B,
X,=0,3333y,,=0,3333 90 6
Aq=(80[ag n*ag y+20 al),
Bo=(bo=[bo,n+bo,y+bo,
g =g [x/y]

bg =byo [/

a,0= 1, byo=-0,4

'
n = Q00 -40
g y=agy(Y/Y1g~1)

b, y=boy (Y/Y1g-1)
2yy=0,000,b,y=0,000

ap A=0,000,by A=0,000
OstwaldFarben (o), Yjy=100
max (m) Buntwert, Q00 T

Buntwert (Ag, Bo)
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Xw=99,99 Yyy=100,00Z,,=99,99
%=0,3333y,,=0,3333
Ar=(ag~[aq n+ag y+ag al) Y
By=(by=[by ntby y+by al) Y

a; = ay [(x—0,171)/y] 65
by =byo [2M]

ay =1, byp=-0,4
mr;=1,000,b0,=0,171 :

Byq

n=Q00 -40

g y=agy(Y/Y1g~1)

by y=boy(Y/Y14-1)
2yy=0,000,b,y=0,000

a, A=0,000,b; 4=0,000
OstwaldFarben (0), Yy=100
max (m) Buntwert, Q00
Buntwert (A;, B;)

23 4
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X4=99,99.,,=100,00Z,=99.99 B,
%,=0,3333Y,,=0,3333 1
Ax=(8p-[a n+ap y+ap al) Y
Bo=(ba—[bp ntby v+ Al) Y
ay =2y [(x-0,17Dh] 90 i

by=byo [(Mppx+bpy)1Y] =
ay =1, byp=-0,4
Mpy=-0,107,b;=0,369

n = Q00 _40

8 y=agy(Y/Y1g~1) 49
by y=boy(Y/Y1g-1)
2y3y=0,000,b,y=0,000

a, A=0,000,b, ,=0,000
OstwaldFarben (0), Yy=100

max (m) Buntwert, Q00 T

Buntwert (A, Bo)
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Xw=99,99 Yyy=100,00Z,,=99,99
%,=0,3333Y,,=0,3333
Ag=(ag-[ag n+ag y+ag al) Y
Bg=(b3~[b3 b3 y+b3 al) Y

a3 =ay [(x-0,17D)/y]

b3=ba [(Mp1x+bp1)/y]

ay0= 1, byo=-0,4 65

mD1=—0.730.bm=0.5'76 '

n = Q00 -40

a3 y=apy(Y/Y1g-1)

b y=boy(Y/Y14-1) 4
2yy=0,000,b,y=0,000

a3 A=0,000,b3 4=0,000
OstwaldFarben (o), Yjy=100
max (m) Buntwert, Q00
Buntwert (Ag, Bg)

CG721-5A 1




Xw=99,99 Yyy=100,00Z,,=99,99
%,=0,3333Y,,=0,3333
As=(8g[a4,n*34,y+ag A) Y
B,=(bs=[by n+bs v+0g al) Y

a4 =ay[(x-0,17Dh]

b=ba0 [(Mp1x+bp1)/Y]
ay =1, byp=-0,4
Mpy=-0,107,bp,=0,369

B,

94

o

n = Q00 -40

3y y=agy(Y/Y1g~1) 4
by y=boy(Y/Y1g-1)
2yy=0,000,b,y=0,000

ay, 4=0,000,b, 4=0,000
OstwaldFarben (o), Yjy=100
max (m) Buntwert, Q00
Buntwert (A4, By)
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X4=99,99,Y,,=100,002,=99,99 B,
X=0,3333y,,0,3333 2
As=(a5-[as n+as y+a al) Y
Bg=(b5—[bs rths v+bs A) Y 90 ¢
ag=ay,[(+8,61x~7,19-0,26
bs=by,{(+1,99+3,86/-2,

a5, = 0,10,b5, = 0,10

Mg G,y R=475,503,574,4940G nm

n = Q00 -40

a5 y=ay(Y/Y1g-1)

b5 y=by (Y/Y15-1) 49N
a,y=0,000,b,y=0,000

ag 4=0,000,b5 4=0,000

OstwaldFarben (o), Yjy=100
max (m) Buntwert, Q00 T

Buntwert (As, Bs)
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X4=99,99.,,=100,00Z,=99.99 B,
%,=0,3333Y,,=0,3333 1
Ae=(36[36,1*36,y*+35,Al) Y
Be=(06{bs b6,y +06 Al Y ¢

bg=byg [(Mp1x+bp1)/y]
ayy=1, byy=-0,4 {65

a,y=0,000,b,,=0,000
a5 4=0,000,b5 4=0,000
OstwaldFarben (o), Yjy=100

r40
ag = ag [X/Y] 24 o

\ As
n = Q00 10 : ' 40
ag y=ay(Y/Y1g-1) 34
be y=boy(Y/Y1g-1) 49

23 9
F-40

max (m) Buntwert, Q00 T

Buntwert (Ag, Bg)
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